
 Models 40 and 40-30  
Drum Cradles 

morsedrum.com   SN 0000 to Current (MMYY) or 400000 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 16 April 2025 Page 1 

 

 

https://morsedrum.com/


 Models 40 and 40-30  
Drum Cradles 

morsedrum.com   SN 0000 to Current (MMYY) or 400000 to Current 

 
 

Copyright – Morse Mfg. Co., Inc. 16 April 2025 Page 2 

 
Model 40 

ITEM QTY. PART NUMBER DESCRIPTION 

1 1 1910L-P SIDE FRAME WELD, LEFT, 40 

2 1 1910R-P SIDE FRAME WELD, RIGHT 40 

3 1 1915-P ASM, BACK STRAP, 40 

4 1 1918-P WELD, NOSE PIECE, 40 

5 4 210-P WHEEL, MORTUF 3” X 1/2”BORE 36 

6 2 209-P AXLE, 5/8” X 18”, 40 

7 4 1169-P NUT, 3/8-16 REV HEX LOCK 

8 8 215-P HHCS, 5/16-18 X 5/8 GR2 

9 8 1634-P NUT, 5/16-18 WHIZ LOCK 

    

Model 40-30 

ITEM QTY. PART NUMBER DESCRIPTION 

1 1 1910L-P SIDE FRAME WELD, LEFT, 40 

2 1 1910R-P SIDE FRAME WELD, RIGHT 40 

3 1 1922-P ASM, BACK STRAP, 40-30 

4 1 1918-P WELD, NOSE PIECE, 40 

5 4 210-P WHEEL, MORTUF 3” X 1/2”BORE 36 

6 2 209-P AXLE, 5/8” X 18”, 40 

7 4 1169-P NUT, 3/8-16 REV HEX LOCK 

8 8 215-P HHCS, 5/16-18 X 5/8 GR2 

9 8 1634-P NUT, 5/16-18 WHIZ LOCK 

https://morsedrum.com/

